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H perr evnsed O Level Examination Pattern from ]uly 2022

Each question below gives a multiple choice of answers. Choose the most appropriate one,

A TE T B T D 7% RPN Y MY §| @ e Sugw RAew T |

1. The following symbol represent:
fr=faiea wdie <afar & :

<>

Decision

IS

. - Initialization

RIS EELE
Input/Output
ERRCVACIEEN S

None of Mentioned

' SfealRad B8 Tél

When an algorithm is written in the
form of a programming language, it
becomes a:

W4 TP TENRUT B WRT 4T 3 60 A
forar @irar €, A1 9% ... 8 ST &

Flowchart - erarc
Program - Urmd
Pseudo code - ST BIS
Syntax - ficaq

Which of the following is not a
keyword in Python?

e ¥ fAAfafad ¥ 9 919 91w Aes
TE 87

A

eval - Udel
assert - TA¢C

vﬁﬂﬁ{mﬁﬁmmﬁmﬁm‘iﬁ

(1x100=100)
C. nonlocal - AFHA :
D. pass'- RIGE

Which one of the following has the
highest precedence in the expression?

wrfddr B

" A. Exponential

EISIER
Addition

SIS
Multiplication
Ton ,

. Parentheses
PIOH

Which of the following is correct about

Python?

TR & AR R W @ W
0

A. It supports 'automatic garbage
collection.

I WAIferd TRAW Poldde P |UIC
HaT 2|

It can be easily integrated with C,
C++, COM, ActiveX, CORBA, and Java.
A MHN W C, C++, COM, ActiveX,
CORBA, 3R W1 & w1 wahvga faban
ST A&l & |

Both of the above - IRag 2




'D. None of the above. - SWRyad 3 3 #Yé
EEl

Which of the following environment

variable for Python tells the Python

interpreter where to locate the module
files imported into a program?

g @ Rt Prefofes § & o wt
raRRTe IRTEE greE gy § T8
qaar & 5 m § g @ e
prEel B Hel W B 82

PYTHONPATH
PYTHONSTARTUP
PYTHONCASEOK
PYTHONHOME

Which of the following data types is
not supported in python? '

Wﬁﬁwﬁrﬁﬁ#ﬁmméﬂm
HqoIE =& Fxar 2 :

A. Number - 98
B. String- R
C. List-fore

D. Slice - ¥1gd

Which of the following function of

dictionary gets all the keys from the
dictionary?
frefRed § 9§ Ramd o1 B W BRM
T B B R & W Pear 87
getkeys() 2 T
key()
keys()
None - @I &l
Select the reserved keyword in python.
qrrer ¥ Rord #as 1 74T B
A. else-5cd '
raise - ¥

import - Z4T€
All of the mentioned - Gﬁvﬁﬁqﬁ -

10. Which statement is correct?

o W worT il &7

A, Listis mutable & Tuple is immutable.
free  ofabrftr & o 2
araf¥erctrefrer 81

B. Listis Immutable & Tuple is mutable.

C. Both List and Tuple are Mutable.

11.

425 7

. fre ofk T af¥aeferdier 31
D. Both List and Tuple are Immutable.
foree sk Tuet araRaddier 21

Data structure used in recursion. -
Raei ¥ Wy T IR B
A Stack-¥®
B. Queue-3g
C. Pointer - @rgex -
D. : None of these - - BE TE
“ function takes a list of Imes to be
written to file.
......... B BIgd o fodt W™ 9Tt alsa’r C|

W?ﬁrffﬁmgl

A. writelinesQ

B writeO

D. None ofthese ?"—rﬁ ﬁ HIE oI

13. The operator used for concatenating two

14, __

strings.-
Mﬁmﬁﬁsﬁa‘»mmﬁm
T 8

1 +
Ba.sk
C: . it
D. None-®1g &l

statement used for error checking. -

.. TR AR & Rg SR R T @
were 8

A, Assert

e
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List
fore
Tuple
<U
. None of these
T A PR T

15. The function that yields current position in
the file.

T€ B W GIgd A IAAH ﬁuﬁ FY e
gl
A tell)
B. write()
C. writelines() ‘
D. None ofthe above .
e # | PIg T8
16. The function used to find power of a
number. . v aipfElaancl

Mmm%mmﬁ%ﬁqﬂgﬁ
B B

. pow().

. exp()

. tell) =
. None of these - FP‘? J ?fflé ﬂﬁ

17. Which 'sm_tement ,is‘ correct about
Isalnum(). \
Isalnum() & TR % aﬂ-rmasmvé’rm

A. Method returns true if all characters
in the string are alphanumeric

numbers(either alphabets’  or
numbers). If not,it returns false

o Rgr #§ W g ARG
weEy (@ @ R W) € ar Yo

% Red v 21 o ) a1 ww wiew
Rest oear &

Method returns False if all characters
in the string are alphanumeric
numbers(either alphabets or
numbers). If not,it returns 'I‘rue

oz Ren % Wl daex W@?«ﬁmi
TRE (a1 AR AT ) ¥ A g |
feq Ret axar 21 afe 4, ?hug;\
Rest axan 21 |

C. Both of the above - ITGT aﬁf
D. None of these - sﬂﬁ J P T

18. Which of the following is Immutable |

object. ‘

frafafaa # ¥-Pr suRada sifeEe §1

‘A, Strings-Rg™ s
Tuple - <uat ' =

. Numbers - &%
. All of the above - STRIaT H‘*?r

. Which of the following statement is |

correct about Getcwd().

Getcdea‘?aﬁﬁﬁﬂmﬁéaﬁ%amm'

mﬁﬂft%l

A Method dlsplays the dlrectory of a g

process.

mmmﬁmﬁmﬁ
HRAT B |

Method displays the current w6rking

directory of a process.
: ﬁ%ﬁ,’ el whFT @ e AR
. Method create file of a process..
- NS U Hftha B Prge I 2 |

D. None ofthese- 3T ¥ ®I$ &

. The operator used to calculate remainder

after division.

........ SfRex W%mmﬁm
Eaci]

A %

B /. el

C. \\ AU L Ty

D. None of these - Wﬁiﬁlﬁﬂﬁ

. If a is declared as a=['me’, ‘he’, ‘they’),

the value of a=""join(a) print(a) will
be ' :

.
——"

- X a ;| a=
- R frw
print(a) ¥ 3
A. mehethe
B. meheth
C. hetheyr
D. None of

22. The
printChijk’
printChifk.
BT
A. (hijk,
"~ B. hijk
C. hijk
D. Nong

23. 'l':hre code
print(at
1)) will
A 2
B. 0

c 1
D. E
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L

7k a B a=['me’, 'he’, ‘they’] B w9 F
R o wmar 8, @ a=""join(a)
print(a) ¥ &g —— 8rl

A. mehethey
B. me hethey

C. hetheyme
D. None of these - T ¥ &g e

. The output for . the
pnnt('hijk' partition(‘ab")) willbe _

prlnt(‘hljk’ partition(‘ab’)) @ ﬁm an'aege
. BN “
. (hijk’,"")
. hijk
hi,jk
. None of the above

aqgiaaﬁ‘éaﬁs‘?é’r

. The code , o
print(’ abbzxyzxzxzbb'. count( abb -10,-

1)) will give output _

. Error

. In the declaration, x—Cu'cleO b4 contams a
_ to Circle() object. - :

feaarye ¥, x=CircleQ, x # CircleQ) T -
... dtere o gt 81 BRESY

dropna()
Reference -

. Optimisers - - afffteHtgor
" None of these - 377 ¥ ®1g el |

is used for data analysis and

manipulations in tabular data in'Python.

1 QudnT grgee ¥ der faver 3R
égav%am’rwgézm#%mmm

A. Pandas
U

P p—

circle

et
. rhombus

Rl il
. block

(Y]

CYIEg

26. The Pandas __ method returns a new

DataFrame.

: None of these - gﬂﬁ J P T
__willreturn the mathematical number

':Pl from the constants module.

A. Math.Pi
B. circle()

C. Pandas
D. None ofthese T B &

___ are set of procedures defined in SciPy

library to find the minimum value of

function or the root of an equation. -

mﬁw%&;mwﬁm%

| ew @ @ @ R ScPy W ¥

feprgee HfFamRi @1 AT Bl
A. - Optimisers

Pandas

LIRS

scipy()

None of these

g QPR T
helps to check the data type on an
array - "

@a‘»@amaﬁmmﬁm
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A. arraydtype()
arr.dtype()
dtype.arr()
. None of these
T P8 T
is a Pandas function for loading CSV
files into Dataframe. -

CSV Grgall 3 STBH § dlIS o @
o & uisr paEE B
read_csv()
csv_read()

. = csv.write()
. None of these

TH W B TE

31. What is the maximum possible length of

32. Python myfile.py is used to s

1dentlﬁer

am%%wa%aﬁwwmm%

16
32
64
. None of the above

ST | aﬁé T8 &
python

file in command shell.

YT myfilepy $HE d F UGUT e
B ... B B Y yEnT far o 8

Run
q

. compile
FHEA
Interpret
gexfie

None of the above

| w7

33. The scope rule in Python are summarized

ELGB(enclosed, local,global, bulltl .j
LEGB(local, enclosed,global buﬂt.in}
Both of the above - STq&T e
None of these - 379 ¥ ®Ig &

. Strings in Python are __

mutable .
. immutable
fixed
fraes

None of these

RSNy

. The symbol used for both mput and outp '

isa___.

waﬁ?wgaa#f%ﬁt{*sﬁﬂm =

VS are R T L % | Gds’}.

A. parallelogram
TR TP
Diamond shape
Shrrs 9

. Circle shape
W 2
None of the above K

'maawaﬁga-@r

. If list1= [10 20,30], then operauon list1*2

returns ___

R fRet =[10,20,30], At SfeRee list1*2

A. [10,20,30,10,20,30]

. [20,40 ,60] .
C. [10,20,30, 20 40 ,60]
D. None

» The symbol used for conditional statement

Inaflow chartisa__




Diamond box
Sfawes i
rectangular box
YEATeR e
Circle shape
gfed AT

None of the above

w@aﬁﬁaﬁs‘ﬂ‘é’f

. You can obtain a value in a usmg a key

for a single element.

a7 @ TR D R @ B B swin

D o d TH TG T N DA & |

A. List-fore i

B. dictionary - STt

C. Tuple-Tgad- '

D. None of these - §T4 ¥ ®I$ &l

. Which of the following statement will be
true? ‘ 5 ¥ 5 e

frfeRed § /@ S W FF |G TP

A. It is mandatory’ ' to have

_main_function in python. =
TgYE H _main_ functlon ?Fﬂ eqﬁrcntf
gl
It is not m‘qndat‘o‘ry to . have
_rﬁain_function_ in pythlbn.-> '
g § _main_function gFT 3fard
T 2 , '
It is mandatory to have any function
in python. ,
qraYe § $IE B e AR
. None of the above
T TS T
. Which of the following statement will be
true. . 11 B 9 ]
frafofad 3 @ #1991 $AT GG 8|
A. Python allows you to assign a single
value to  multiple  variables
simultaneously.

qrIerT UM TH AT E ANTES B
Rre @ e Pt @t A S &
2l

. You can assign multiple values to
multiple variables by separating
variables and values with commas.
gl

. You can assign the same value to
multiple variables by
using = consecutively.

mwﬁr?}qaﬁmaﬁqﬁ?ﬁzﬁ
ferg = T ®9 |/ ﬁffi‘\‘z TR B B

.D. All of the above
SR T

41, What will be the output of the following

code? -
ﬁwaﬁaanamgamﬁm?

print (type(type(int)))
A. type‘int’

B. type ‘type’

C. Error :

D. 0

. Whati is the output of the followmg code?

ﬁmmmwwm‘?

a1 L=‘[-'a', lbl’ lcl,odl]

print ("".join(L))"

A. Error

B. None

C. abcd

D. [a)b)c/d]

. Following symbol shows___

A. Decision

v
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Initialization
oA
Input/Output
3?3‘(.'/3‘1’133’33
D. Start/End
W /58

44, Suppose listExample is [3, 4, 5,20, 5, 25 1,

3], what is list1 after listExample.pop(1)?

A. [3:4,520,5,251,3]
B. [1,33.4,5,520,25]
C. [3.5.20,5,25,1,3]
D. [1,34,5205,25)

. Which of the following is the use of id()
function in python?

Wﬁﬁﬂ%@ﬂﬁ%xdowar
mu\wam%?

A. ID returns the identity of the object
IES aifesrae B e Red Har v
B. Even object doesn’t have a unique Id

T siteae @ g oS T8 B
2

All of the mentioned
QRIS 4T

None of the mentioned

SREd § q B8 €

. What ié called when a function is defined
inside a class?

ST TE T § T @ e faa
ST & 9 S T BEd 87

Module

1)

Argg el
Class

s

FelTd

Another function
I HgEH
Method - #ere

. What is the 6utput of the following
code?

frfefaa ®re &1 ar—eye T 87

print (9//2)
A 45
B. 4.0
C. 4
D. Error

48, Whatis the output of the following? -

ﬁmﬁmﬂmwﬁ?

print("Hello {o!r}
{01s}".format('foo’, 'bin’))

Hello ‘foo’ and foo
Hello ‘foo’ and foo
Hello foo and ‘bin’
Error

49. Which of the foll_ovﬁng enviro ..
“variable for Python 1s an alternat

module search path? . :
g @ foe frefeaRea # X aﬂvri
gaERTe ARgEw & dSfds q‘i@qa
@S 9T 87

A. PYTHONPATH

B. PYTHONSTARTUP

C. PYTHONCASEOK
D. PYTHONHOME

while i<3:
print i
I1++

print i+l

A. 021324
B. 012345
C. Error

D. 102435

51. Error does not fall into any category

TR foelr it e F 8 iy
A. Syntax Error

e R
B. Runtime Error

NACSTEH TR




C. Value Error

g TR
D. None of these

T QP T8
52. Which type of Error generéte, when the
argument have invalid values specified?
o e ¥ Tfes 3y W ekl @
fhi%ﬂxnaﬂzaﬁ“vvtvﬁﬁaiﬁdré? '

Value Error

TG T

Syntax Error

e ™

Logical Error

GISIESANSS
. None of these

T A B e
. Which mode Opens a file for both readmg
and writing in binary format. '

aﬁamqﬁsmﬁtﬁﬁaﬁmmm
< D Y PIge e 21

rb+
rb-
Wb
. None - &g T8

. Function blocks begin with the keyword
GHMA wifd PIFS ... ¥ O o 8
A. function
B. method
C. def
D. None of the above -
Sudad § | PIE 6
. Negative count from the Right.
Tt AR | FHD TOMT |
L1[-2]
L1[-1]
L1[2]
. None of the above

#B.

C. delete
D. None of these -

59 The output of the following python
- programis ___

ﬁmmaqmmmmtmagew%l

56. The offset of the local DST time zone.

Jwer Sowdr ergw T BT BV BT 5

A. Time.altzone
B. alt.Timezone
C. zone.altTime

D. None-®g 78l

57. Converts a list into tuple.

foree @Y e ¥ aRafia Fvar 8|
A. Tuples(seq)

_B. list(seq)

C. dict(seq)
D. None- &g T8

58. Explicitly remove entire tuple.

quﬁmﬁmm%m%l

A, del

remove

r—lambda q:q*2
- s=lambdaq: q*3

x=2

x=r(x)

x=s(x)

x=r(x)

printx

24
48
64
None of the above

I § N B A

60. Let consider the following Python code

frfafed areF o6 ® far =%




61. Recursive

a=True

b=False

c=False
ifaorhb and c:
pr1nt ("TRUE")
else:

print ("FALSE")

The output of this code is

. TrueFalse
D. 0
functions usually take
memory space than non-

recursive function.
F-Reftis wam & go #§ Rofia
A. less-o™
B. more - ¥R
C. End-ss
D. None of these
T I P T8
. Python programming language was
created by
YR W AN .. BT amé L} am

A. Ray Tamilson
X e

. Guido van Rossum
RIESICIE AL
Tim Berner
fer TR’
. None of these
T QB8 T
. Python supports Object-Oriented style
or technique of programming that
encapsulates code within
e dfeige—aiRas e a1 wenkih
B TS P AR TRl § o are
% ] WS & )

A. objects

64.

65 All parameters(arguments) in.

66. The

A
B. datetime()
o
D

-A. Textdocument

aifeorae
style
wrgd
memory

LI 1 67.

.. None
B T |
returns the .current um

instant, a floating-point number ‘
seconds since the epoch.

4 %

B. local variables -

C. datatype - Trey
D. Noneofthese-

The differences be
lists are, the tuples ¢
unlike lists and
whereas lists use sq

=7 AR Jfm 3 4
o 3 Rede axy

OO . BT ST

@mm-mmman

Time.time()

time.date()
None of the above

. swgﬁﬁﬁifﬁéﬂ?r

Python language are passed by

e e W m(a@ai.;
e fad T 1

THRE AT
Spreadsheet
|rsdie

. reference
Re=

D. Database
IICACES|

can be accessed only insid
the function in which . they

declared, whereas global variables 9.

be accessed throughout the progr:
body by all functions.

mmmﬁgﬁ%mmm
I e B |

A. Global variables - Teltaa aRadet

- Do BT I 3

A. Angular brackets
B. parentheses - §z
C. curlybrackets -

D. None of these -3

. Python converts n

an expression con
to a Common typ
sometimes, coerce
from one type to
requirements of
TSR P TS R
i JiaRs w7 ¥
-, ...
T T 3 RE T
?Sﬁ TSR § e %
A. function - Bag
B. tuple-cuw
C. list-fore

D. None of these
A

graphical
computer prog
sequence of fun

flowchart - ¢
Both of the ¢
None of thes
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B. local variables - Sipat Ryae .
C. datatype - STe1 25y
D. None ofthese - 7% ¥ 1§ =1

67. The differences between tuples and

lists are, the tuples cannot be changed
unlike lists and tuples use )
whereas lists use square brackets,

oo R YRR B 99 T8 oiv & i eyeq
gt @ RUT a5 78 w1 ey @ ek

Angular brackets - TTIeR Se
parentheses - f@¢ _- .
curly brackets - it e -
None of these - 3% ¥ 15 =&}

. Python converts numbers internally in
an expression containing mixed types
to a Common type for evaluation. But
sometimes, coerce a number explicitly
- from one type to another to sétisfy the
requirements of ___ parameter.

TR HERTCP qlieT 9 R Rt
THRI B T M SR ¥ Ia afafi
i Fake w9 | uRaffa axar &1 Afde
TR, ....... IRFICY B ATEHARI BT

W F B Ry @ W B TR ¥

T IBR § W€ WY § O T € |

A. function - B

B. tuple - euat

C. list-foree '

D. None of these - 7% & @3 7l

A graphical representation of a

computer program in relation to its
sequence of functions___

WmmmmWa%m% .

Algorithm - R’F-"ﬁﬁ?ﬂ?
flowchart - erame

Both of the above - Iydad M
None of these - 379 31 ®Ig 7g}

70.

method calls the built-in Python
help system.

e -z urayd ¥ fRied @y
Bfa ww &

python.help()
help()
help.python()
None of the Above

'Wﬁﬁ?ﬁ?ﬂ%ﬁ

. To create sequence of numbers,

Numpy provides a function

~analogous to range that returns arrays

instead of lists.

wm‘fa?rmaaﬁa%ﬁm Numpy’wrra‘?
US{ FHRAT &Y

ol & a9 W Red v 81
arange - 3
aspace - T&9

. aline - 3refTg A
. All of the above - Sue T

. Whatis the use of seek() method in files?

gl ¥ seek() A BT F4T IGANT &?

A. sets the file's current position at the

offset.
BIgel @ adAE RAfy o1 difpde ) A

BT T |
sets the file’s previous position at the
offset.
PEd @ ol Rufd sifpee w® Je
BT B
sets the file’s current position within
the file.
B B WR Bl @) qaqH Rafy A
BT & |

.. None of the above

IR # A P

73. What is unpickling?

B fenT T4 87

A. ltis used for object deserialization.
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-mmmmﬁ

fayg s T 2

Itis used for object serialization.

Tl SwN aifede WiRadEeRE ®
fore frar @ |

Both of the above.

IWIE QA

None of the above.

P

method converts all uppercase

characters to lowercase and vice versa of
the given string, and returns it.

D. None of these - 5778 ¥ ®I$ 7

78. filter( is used to
fyeex () &1 ST T w8

A.

constructs an iterator from elemen":
of an iterable for which a functiq
returns true.

(F ek B gRml § U6 1R 5
Prfor oo @ R T TEE tny

aRem @ §

filters the given sequence with th
help of a function that tests eac

. dus ol sy ey @ Ry M
feT @ deRaY R gue fgda ¥ uRafia
I 2, m‘ﬁﬁeﬁméﬁ%i

swapcase

lowertoUpper()
None of these - 378 § @13 &l

. ndarray is also known as the array.

A
B. - uppertolower()
c
D

ndarray @ ........WX ® ®I § {1 ST ST
g8l

A. Array-W
alias - gferdrg
variable - aRTae
None of these - 374 ¥ P13 el

is used to close a file object(fp).

file.exit() _
None of these - 394 4 @13 781

reads one entire line from the file.
. TPTSA W TP T A5 vedT 2 |

A. readline()
B. read()
C. readinglines()

element in the sequence to be true g
not. '
ﬁuwaﬁmaﬁwmiﬁ BT
¥ freex Tl & W AgHA
qﬁﬁeaﬁwmmgﬁm
PR B |

C. Bothoftheabove-fﬂ'é?ﬂ A |

'D. None of the above

IRE QDY AG

79. Following symbol represents in flowcha

yarere ¥ frefaRea wde <far §:

Start and end of a flow chart.

TF el 91E B IHand AR 3T B
Decision '
ot

Input/output

ERECVACIEE o

None of the above.

| Sufa d § B8 T

80. Which of the following python in-bu

function is used to remove all
leading and trailing spaces from
string. :

frafafled 4 @9 |1 IEA 3 £
THM & ReT ¥ g0 AT sl 2fET R
ma’rnﬁa‘immﬁmmel




strip()
remove()
None of the above

[ S

cts an iterator from e'eme"ts Jot All keywords in python are in_

lterable for which a function

of the above. 34,
7z

T3 A BIE T L
i

the following python in-bui1;
is used to remove all the
and trailing spaces from 2

¥ ¥ I W e g-Aw
R & w1 AT ek 2feiT R
& forg SuanT frar Srar 81

e ¥ T e — § eR §)

A. lowercase - SRR
UPPERCASE - &9
Capitalized - SfiiTaTEvs
None of the mentioned

JEE G

. Which of the following python functlon

converts a string to a list.

.ﬁqﬁqﬁm#'ﬁaﬁﬂmwwW

& o ve fove § uRaffa owar 2

"A. listQ

B. str()
C. Both of the above - T:N'{{?ﬁ Eikil
D. None of these. - T Q BIE TS

—an explicit set of step by step spéciﬁc
instructions that solve'a problem with an
end or a solution

m—ﬂ—mﬁﬁwﬁiﬁﬁrw-\w‘aﬁa,

T el W Y SfT 1 AN B W B
Fam B

A. Flowchart - e

B. Algorithm - genRes

C. Process - 99

D. None ofthese - 7% q B ﬂé‘r

Which function is used to converts and
returns the binary equivalent string of
agiven integer.

& f5dr Ry v s<oR @ ST A

R & e o ok Red o @ o
& wawr @1 SuEnT fvar omar &

A. bin()
B. int()

C. binary()
D. None of the above - Gq?’m?r H g e

85. Which flow chart symbol is used for

processing of data or calculations.

@ ver ué Rpwa I A T D
wreER @ forg SwanT fasar o 8

a ]

B. O

C.

D. None of the above

Sugt ¥ 9§ P TE

. Which of the fbllowlng functions take

iterables(can be zero or more), makes
iterator that aggregates elements based on
the iterables passed, and returns an
iterator of tuples.

fraffea ¥ ¥ P9 9 PRE @ geRae
¥ & (T T ARE B wHAT 8), v
T & S 9 Y MY geXE e @ AR W
TR B e a8, R e H
gevew A B

A. ZipQ
tuple()
listQ)
None of the above
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. Which inbuilt function is used to ‘takes an

iterable object as input and makes them
immutable.
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A. . frozenset()
obj()
input()
None of these
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. Which of the following function convert a

sequence of tuples to dictionary in python?
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A, set(x)
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‘B. dict(d)
C. frozenset(s)
D. chr(x)

89. Which of the following operator in python

evaluates to true if the variables on either
side of the operator point to the same
object and false otherwise?
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. __ function convert an integer to octal
string in python. Ak
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unichr(x)

oct(x)

chr(x) , .
None of the these - 7 3 PTg Tel

. ___ Converts an integer to a Unicode
character.
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A. unichr(x)
B. chr(x)
C. oct(x)
D. None of these
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. ___is a function of dictionary gets all the
values from the dictionary.
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A. values()
B. chr()
C. uni()

D. None of these
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93. The expreséion' s {mplies that th
variable x is converted to integer.

exp(x)

int(x)

chr(x)

None of these
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Machine dependent
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. None of these
C g W g
‘computer sciencé; . _refer§ to
special method usable by a-computer

= the solution to a problem.
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algorithm - TemReA
program - STATH
. . Graph-41%_ sive :
None of these - 3 A PE T
. Which language is derived from m:
other language, including ABC, Mod
3,C,C++, Algol-68,SmallTalk, and U
shell and other scripting languages.
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Java : . The keys of a dictionary can be
ST : accessed using values.
Fortran R A keys & A F T
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. None of the above . C. Dictionaries aren’t ordered.
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. In Python assignment of more than one . Dictionaries are mu;a;(ﬁbleg.
behaviour to a particular function and the R aRtact e !

operation performed varies by the types of . Which of the following is not a declaration
objects or argumets involved are known * ofthe dictlonary?
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Function overloading b. (}
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ST AR - String and retiirns an object.
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o o A. exp(x)

. Which of these aboiit a dictionary is false? B. eval(str)
C. str(x)
D

%@Hﬂ?%aﬁﬁﬁﬁﬁmmmg? None of the above

A The values of 4 dictionary cari be Swdd ¥ | BIg T
accessed using keys. ;

' Answer sheet

1A 2B 3A 4D 5C 6-A 7-D 8C 9-D

13-A  14-A 15-A 16-A 17-A 18D 19-B 20-A 21-A
25.A  26-A 27-A 28-A 29-B 30-A 31-D 32-A 33-B
37.A 38-B  39-B  40-D 41-B  42-C  43-C  44-C  45-A
49-p 50-C  51-B 52-A 53-A  54-C 55-B 56-A 57-A
61-B  62-B 63-A 64-A 65-C 66-B 67-B  68-A 69-B
73.A  74-A 75-B  76-B 77-A  78-C 79-A 80-B 81-D
85-A B86-A 87-A 88-B 89-C 90-B 91-A 92-A 93-B
97.C 98-B 99-C 100-B :




